| Efficiency vs Dxy |
> 0.1
<

S : : : : : : : : :
0,004

B

.(D H H H H H H H H H
KT O e A A S S S S S
© Foo : : : : : : : :
0.06 ity + """" rorrrpreie
0,05+t

Ran mann

0.03 -t R R R | R LT R RRE

T i taes
ot i

OJ-'\-Q ||||.||||.||||.||

Rati

=
!
Y
*
+
4
T

0955 56-16-10 -5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mkFit_TToriginal

| Efficiency vs Dz |

—— DQM_mkFit_ TTNEWnoMS-genMatch-CUT

N 0.2
© : : : : :
T SRR S S S R
> F 5 5 5 5 5
e R S S
o C : : : : :
.14 e Bremneeeeee B A A
o : : : : :
RTINS E N M ——
BN TS N S I AW
0.08 ' ' '

0.06

0.04

e T T

0.02
o+

vl oo e L 1
J1118 .

Rati

1 - 99 -00 0--9LH{{eH--Fo]- |- : e --o
. . 3L " R

095 T Tr E""' 0T ";'.iﬂ T :' e "’;"

%0 20 -10 0 10 20 30

TP dz (cm)



	Contents
	Page 1


